INTERNATIONAL INDIAN SCHOOL, BURAIDAH
CLASS IX (2021-2022) - WORKSHEET (#1)

CHAPTER (1) - NUMBER SYSTEM

1. Every rational number is also
(a) a natural number (b)a whole number (c) anirrational number (d) areal number

56

1000
(a)0.56  (b) 560 (c) 0.056 (d) 5.6

2. The decimal form of

3. TTisa

(a) whole number (b) irrational number (c) integer (d) rational number

4. The decimal form of — is
11
(@) 0.27 (b) 0.27 (c) 0.27 (d) 0.272
5. The product of two irrational numbers is
(a) always a rational number (b) always an irrational number (c) always an integer

(d) sometimes rational & sometimes irrational

6. Write 5 rational numbers between 5 & 6

7. Write 4 irrational numbers between V3 & /5
8. Show that 1.37 can be in the form g (rational number)

9. Is V441 anirrational number. Give reason.

10. Represent on a number line

(@) V2 (b)) V5  (c) V10
11. Represent 4.735 using successive magnification.

12. Write 2 real numbers whose difference is an irrational number.
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13. Find the decimal representation of E
14. Arrange in ascending order Y7, V10, 3
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Simplify : (i) (3+V3)(2+v2) (i) (W11-V7)( VI1++7) (i) (V5 + V2)?

(iv) (2v2-3V3 + V11) + (5V3-2V2 +6+11)
(v) 1615 + 43 (vi) 25 X645

Rationalise the denominator :

.5 7=3W2 o 5+y2 1 V2
(i) NN (ii) T13v2 (iiif) 33 (iv) 3 (v) NG
_ N _2-43 VI1-+7 _
Find aand b if (i) a b\/——z_l_\/§ (ii) N a—bV77
VE+V3 o V2443
(iii) \/g_\/g—a+bxfﬁ (iv) Wz 273 =a—DbV6
1
Find the value of X2 + = i ()X =2+v3 (i) X =4+y15
o=Vl YC iy = YTEVE i the value of A2 + 32
=7 ve andy = N ind the value o y
V3442 _V3-v2
If == h Y B find x +y + xy
o3 2 4445 LA V5
Simplify : (i) 5_ V3 +5+\/§ (ii) P 4+\/§
1 + 2 + 1
R RN PN
3+1
If X = find 2x* —8x+ 7
Find the value to three places of decimals given

V2 =1414, 3 =1.732, V5 =2.236 and V10 = 3.162

3 V5 +1 2443
(I)ﬁ (ii) 7 (iii)

Represent /5.4 on anumber line geometrically.

~3/2 5/4
simplify: () 6413 i) (6—4) (i) (ﬂ) (v) 5/(32)-3
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